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1. "Jurisprudence is the science of law, the
statement and systematic arrangement of the
rules followed by the Court and the principles
involved in those rules." Who said it?

(A) Salmond

(B) Pound

(C) Gray

(D) Stone

2. "Law has its source in Volkgeist." Who said it?
(A) Maine

(B) Thibaut

(C) Hegel

(D) Savigny

3. “Auniversal law for all nations and times stands
on the same line with a universal remedy for all
sick people.” Who said it?

(A) Pound

(B) Ihering

(C) Ehrlich

(D) Duguit

4, Which of the following denotes a relation
between the owner and a vague multitude of
persons, none of whom is distinguished from
any individuals?

(A) Rightinrem

(B) Rightinpersonam

(C) Positive right

(D) Negativeright

5. The conclusion reached by the judge on the
basis of material facts and on the exclusion of
immaterial ones is —

(A) Ratio-decidendi

(B) Obiterdicta

(C) Judgment

(D) None ofthe above

6. A legislation which can not be repealed,
annulled or controlled by any other legislative
authority than which has made it, is —

(A) Subordinate legislation

(B) Supreme legislation

(C) Executive legislation

(D) Judicial legislation
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7. Who of the following has propounded the
'Realist Theory of Corporate Personality'?

(A) Gierke

(B) Hohfeld

(C) Maitland

(D) Dicey

8. Where the subject matter of ownership is a right,
such as copyright or a patent, it is called —

(A) Corporeal ownership

(B) Incorporeal ownership

(C) Absolute ownership

(D) Limited ownership

9. Customs which are binding not due to any legal
authority independently possessed by them, but
because it has been expressly or impliedly
incorporated in a contract between the parties to
it, are—

(A) Local customs

(B) Legal customs

(C) Conventional customs

(D) General custom

10. If the State or its instrumentality purchases
shares of a company —

(A) It is included in 'State' under Article 12 of the
Constitution of India.

(B) State will be taken as an 'authority' within the
meaning of Article 12.

(C) Itisnotincluded in'State' under Article 12.

(D) Such company will be included in 'State' under
Article 12.

11. Which ofthe following is not correct?

(A) Article 16(4) and 16(4A) do not guarantee any
fundamental right to reservation.

(B) Article 16(4) and 16(4A) guarantee
fundamental right to reservation.

(C) Article 16(4) and 16(4A) do not impose any
Constitutional duty on the State.

(D) Article 16(4) and 16(4A) are in the nature of
enabling provisions.
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12. Which of the following is not correct?

(A) If fundamental duties are disregarded, nothing
happens.

(B) Fundamental duties may be enforced by law
made by the appropriate iegislature.

(C) The Court may direct the Government to take
steps for the enforcement of fundamental
duties.

(D) Fundamental duties are enforceable by the writ
of mandamus.

13. Which ofthe following is not correct?

(A) Article 32 gives power to the Supreme Court to
issue any writ for the enforcement of
Fundamental Rights.

(B) It is not possible for the Supreme Court to give
any direction for amending the Act and the
Rules.

(C) The Supreme Court can not issue any direction
to the Legislature to make any particular kind of
enactment.

(D) Mandamus may be issued to enforce an Act
which has been passed by the Legislature.

14. Pointoutthe correctresponse.

Under Article 51 of the Constitution of India the
State shall —

(A) endeavour to foster respect for international law
and treaty obligations in the dealings of
organized people with one another.

(B) encourage settlement of international disputes
through International Court of Justice.

(C) ensure that international treaties and

agreements entered into by India shall have the

force of law even without concerned legislation.
take the matters relating to international peace
and security to the Security Council.

(D)

15.
(M)

Read the following carefully.

The Supreme Court has held that right to life

includes right to privacy but it is not absolute.

Right to privacy may be lawfully restricted for

the prevention of crime or disorder.

(1) Right to privacy may be lawfully restricted for
the protection of health and morals

(iv) Right to privacy may be lawfully restricted for

the protection of rights and freedom of others.

(i)
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Point out the correct answer.

(A)

®)

©)
(D)

16.

(A)
(B)
©
D)

2y
~

(A)
(B)
(©)
(D)

18.

(A)
(B)

©)
(D)

19
(A)
(B)
©
(D)

20.

(A)
(B)
(©)
(D)

Only (1), (ii) and (iii) are correct, (iv) is wrong.
Only (i), (i) and (iv) are correct, (iii) is wrong.
Only (i), (iii) and (iv) are correct, (ii) is wrong.
(i), (i1), (iii) & (iv), all are correct.

For the introduction of a bill or amendment in | 1

either house of the parliament affecting taxation
in which States are interested-

Prior recommendation of President is required.
Prior recommendation of Governor is required.
Prior consent of the concerned State is required.
Prior recommendation neither of the President,
nor of the Governor is required.

The taw declared by the Supreme Court shall be
binding on all courts and tribunals within the
territory of India. This has been provided in-
Article 142

Article 141

Article 140

Article 138

Which one of the following is not included in |1

basic structure of the Constitution?
Supremacy of the Constitution.

Republican and democratic form of

Government.
Law making procedure in the parliament.
Judicial review.

9. Talak-ul-biddatis—

Complete and irrevocable divorce
Incomplete and irrevocable divorce
Complete and revocable divorce
None of the above

The renunciation of Islam by a married Muslim
woman by her conversion to a faith other than
Islam—

shall not by itself dissolve marriage

may by itself dissolve marriage

shall by itself dissolve marriage

none of the above

=

20.
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21. Muslim mother's right to have the custody of
minor child is known as-

(A) Hizanat

(B) Hazina

{C) Khula

(D) Ahula

22. A Muslim girl aged 17 years was given in
marriage by her grandfather and her consent
was not sought. The marriage is —

(A) Void

(B) Voidable

(C) Valid

(D) Revocable

23. Gift exceeding 1/3rd of the property of Muslim
donor is:

(A) Valid

(B) Void

(C) Voidable

(D) None oftheabove

24. Acknowledgement of legitimacy by a Muslim
once made is:

(A) Revocable

(B) Irrevocable

(C) Compoundable

(D) None ofthe above

25. Alienation of immovable property by a Muslim
de facto guardian is -

(A) Lawful

(B) void

(C) voidable

(D) Noneofthe above

26. Under the Hindu Adoption and Maintenance
Act,amotheris—

(A) Entitled to live along with her son's family

(B) Notentitled to live along with her son's family

(C) Morally entitled to her son's care

(D) Entitled to have separate accommodation from
her son
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27. An adoption made by a Hindu male without the
consent of his wife is—

(A) Void

(B) Voidable

(C) Valid

(D) Invalid

28. Amarriage under the Hindu Marriage Act, 1955
between two persons within prohibited degrees
of relationship is—

(A) Valid

(B) Void

(C) Voidable

(D) Irregular

29. Acoparcener has—

(A) a right to renounce his interest in the
coparcenery property but subject to the consent
ofall other coparceners.

(B) a right to renounce his interest in the
coparcenery property generally.

(C) no right to renounce his interest in the
Coparcenery property,

(D) None ofthe above is correct.

30. Who amongst the following is not a 'Hindu'
within the meaning of Section 2 of Hindu
Marriage Act,1955?

(A) Buddhist

(B) Sikh

(C) Jain

(D) Jew

31. The doctrine of "Factum Valet' enables to cure
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33. Under Section 10 of Hindu Marriage Act, 1955—

(A) the grounds for judicial separation are the same
as grounds for divorce.

(B) the grounds for judicial separation are different
from the grounds for divorce.

(C) some of the grounds for judicial separation are
same as the grounds for divorce with some
additional grounds.

(D) None ofthe above is correct.

34. Under the Constitution of India, all aspects of
family law are in the—

(A) Union list

(B) Statelist

(C) Concurrentlist

(D) Noneoftheabove

35. Which of the following is 'Industry' under the
Industrial Disputes Act, 1947?

(A) Census department of Government of India.

(B) Department of Social Forestry.

(C) Physical Research Laboratory.

(D) State Hospital.

36. Who may be the presiding officer of Industrial
Tribunalunder the Industrial Disputes Act, 1947-
(A) ADistrict Judge or an Additional District Judge.

(B) Any judicial officer having the experience of
not less than seven years.

(C) A Deputy Chief Labour Commissioner
(Central).

(D) AlJudgeofHigh Court.

37. Section 25(G) of the Industrial Disputes Act,
1947 deals with—

(A) Procedure for retrenchment.

(B) Re-employment ofretrenched worker.

(C) Condition precedent to retrenchment.
(D) Noneoftheabove.
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38. The dissolution of a registered trade union has | ¢

been dealt with under-
(A) Section24 of Trade Unions Act, 1927.
(B) Section 26 of Trade Unions Act, 1927.
(C) Section27 of Trade Unions Act, 1927.
(D) Section 28 of Trade Unions Act, 1927.

39. Under Payment of Bonus Act, 1965 'Salary' or
"Wage' per mensem for an employee to receive
bonus is—

(A) Rs.3,500/-

(B) Rs. 10,000/

(C) Rs.15,000/-

(D) Rs.21,000/-

40. The Employees' Compensation Commissioner
under the Employees' Compensation Act, 1923
is appointed by-

(A) Central Government.

(B) State Government.

(C) Either by Central Government or by State
Government.

(D) None ofthe above

41. Ensuring the safety, health and welfare of the
employees is the primary purpose of the -

(A) FactoriesAct, 1948

(B) Paymentof Wages Act, 1936

(C) Equal RemunerationAct, 1976

(D) Industrial Disputes Act, 1947

42. In every factory the occupier shall employ
welfare officers if the number of employed
persons thereis —

(A) 300

(B) 400

(C) 500

(D) 1,000

43, For any product to be registered as a 'Patent
Right', itrequires —

(A) Novelty, inventive steps and non-obviousness

(B) Novelty, discovery and obviousness

(C) Inventiononly.

(D) None ofthe above
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44. Thetermofevery patentinIndiais—

(A) Ten years from the date of filing the patent
application

Fifteen years from the date of filing the patent
application

Twenty years from the date of filing the patent
application

Twenty five years from the date of filing the
patent application

(B)

45. InIndia, the literary work is protected until-
(A) Lifetime of author

(B) 25yearsafter the death of author

(C) 40years after the death of author

(D) 60 years after the death of author

46. Under the Copyright Act, if the term of the years
of the assignment is not mentioned then it is
assigned for -

(A) 3years

(B) 2years

(C) Syears

(D) 1year

47. The work of copyright which subsists in
musical work 1s -

(A) Music and its graphical notation

(B) Lyrics

(C) Songs

(D) Performance by Actors

48. Trademark law protects-

(A) Words, symbols or devices that differentiate
goods or services from one another.

(B) Onlybrand names

(C) Names of specific people and places

(D) Inventions that feature some sort of utility
function

49. Which of the following is one of the key
characteristics of a trademark?

(A) Atrademark identifies a product's origin

(B) Slogans are not covered under trademark law

(C) Trademarks are never an indicator of quality

(D) Trademarks are "shorthand" for retailers to use
in determining pricing strategy
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(C)
(

D) énﬂrlc“l“fr‘g{m AT

R e fafy wxfem o v

(A) TSaT, Yilp! 3TraT SUBRUN B &I AT Tl
REICIERCEGRGICR R EEE Eaaa
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(C) fafdre aufaal o T & 9] @ |

(D) STSHRI @, S ST TebTa] Pl S & |
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(C) AIR-FET 9 A e I qEF T8 ¢ |

(D) SR, e MaRvr I FHiEd o
ﬁuﬁm%@‘m&ﬁaﬁﬁ%l




50.
(A)
(B)
(©)
(D)

< 4
(A)
(B)
(©)
(D)

(A)
(B)
(@)
(D)

) Felthouse v. Bindley
) Dunlop Pneumatic Tyre Co. Ltd. v. Selfridge &

Consensus ad idem in the law of contract means- | 50.
Meeting of minds

Conditional consent by a party
Unconditional consent by a party

None ofthe above

According to Indian Contract Act a promise iS—
A communication of intention to do something.
Aproposal which has been accepted.
Aperson's words to do something.

A statement on oath.

The basis of quasi-contract is “no one should be
allowed to enrich himself unjustly at the cost of
other”. This was propounded in-

Sinclair v. Brougham

Moses v. Macferlan

Sameul v. Howarth

Hughes v. Metropoiitan Railway Conmpany.
Which one of the following cases is related to
doctrine of frustration?

Hadley v. Baxendale

B3

o,

Co. Ltd.
Krell v. Henry

Which one of the following statements is

correct?

An agent cannot renounce his agency.

Anagent can never delegate his agency

Anagency coupled with interest is irrevocable.
None of the above statements is correct

54.

ries Act, 2013 was assented by the
ndla on—
20th Axi}(‘ub‘i 2013
20th August, 2013
12th September, 2013
20th September, 2013
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/

(D) I WX T T Th B & |

TS gfersi-

. HfagT-deg B MR, fHE T B P ®

5 I 1 e B | W B TG T &
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(A) RFemR T g/Sg 4

(B) ARG 9719 HH B

(C) Sy T EEd

(D) B[S S HSIUIeTeH VeTe T A

afeRea =

qHfET 87

(A) TS0 M TRV

(B) Wecarsy 919 foveal

(C) STe™ ~gufed <RR HwAl fafics T
HAhS TUS HFH| A Hes

(D) P& I BT

N PH T W & Rigra ¥

FRIRed A W DT SO Ta g |

(A) T S ST SR T UREIRT T e e |
(B) e Sr¥ea] B T 3T SHAPRT BT G
() %%ci o1 e U SR SfIEUEg B |
(D) ST HA TR N FHoH A Ta & |

. B T, 2013 B ARG B Uy B

STAR 9T g

(A) 20 3R 2013 &I
(B) 29 37T 2013

(C) 12 ¥R 2013 1
(D) 20 RIawsR 2013




. 'Men may come and men may go but the
company exists'. Which characteristic of
company is explained by this?

Separate legal entity

(B) Perpetual succession

(C) Capacitytosue

(D) None ofthe above

(A)

A company which has control over another
company is—
Controlling company
Subsidiary company
Holding company
tatutory company

The company needs to obtain prior approval
from the Central Government when it changes
the address of its registered office from —

one city to another city.

within the same city.

one State to another State.

one country to another

(&)
(B)

©)

TN
(D)

59,
(A)
(B)
©)
(D)

Apersoncannothold the directorship of more than—
3 companies.

10 companies

15 companies

20 companies

60. A company which has raised money from the
public through prospectus and has not still
utilized the whole of the money is not to change
its objects—

except with the company's ordinary resolution.
(B) except with the company's special resolution.
(C) inanymanner.

(D) exceptbywayofresolution inthe meeting of directors.

£ AN
(A)

61. Comity of nations means-

(A) Mutual respect and recognition between nations
for one another's laws and customs.

(B) An international agreement concluded between
States in written form and governed by
international law.

(C) The general practice of the States which
considers custom as law.

(D) The decision of International Court of Jusice in
a case amongst States.
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58.

60.

61.

ST O HehT & AT S O WA § TR
T T ARAE T M | T HHA BT DA
1 IR wrerr wse B g ?

(A) T fafere s

(B) WITREd Tgac

(C) @& o & &

(D) ST & P T

(A) ﬁwwm@rfﬁﬁq#(
(B) HHT BHAI
() Fa= H

(D) Tfafers Hry

HEHA] B iy GRPR B Y4 FFAIG YT BRA Pl
TGI8 &, T4 T8 ST i DRIerd bl
g

(A) TH TR Y THY IR H e 8 |

(B) S UIeR  gGETN &

(C) 7% I ¥ T XS0 H F_enN ¢ |

(D) THIU A TAR A IS & |

. U fd FeeTe a8 aear—

(A) 3R 9 31fSH o

(B) 10 BRI 3 31fSre &1
(C) 15 B Y a1 &
(D) 20 ¥ 9 3115 &l

TH HFIH Ol YRUFed & g1 OFdT 9 89 U6
HR & T FA G H1 W T SUANT T
T, I8 I Sy IRIRIT T8 B G-

(A) T B TR HT B =1

(B) HFI & 9Ty epeq & T

(C) TR MyPR Y

(D) fAceTen! &1 So@ 7 TIRT Weheq & 3T

RIERT AIETE BT 372 B

(A) XTI & HeY Uep g o faferan o wighl &
foTT IR R e T T2 J=aT |

(B) <19t 7ey foiRead wrey # dorn s fafy
BRI HAfeTd Ud SRSy BRIR

(C) 3TY1 B T ARG BRI fTaH wied! ol
CEEAREEIEIR IS

(D) ITT & HY TP A8 N SR ATy Bl
o




62. Pointout the correct statement.

(A) Only the States are the subjects of International
Law.

(B) Not only the States, but individuals as well are
the subjects of International Law.

(C) Only the individuals are the subjects of
International Law.

(D) None ofthe above is correct.

63. According to which of the following doctrines
recognition should not be given to any
government which has come in power by
revolutionary means-

(A) Estradadoctrine

(B) Tobardoctrine

(C) Stimson's doctrine

(D) Hallestein doctrine

64. Recognition does not entitle the recognized
State to-

(A) sueinthe courts of recognizing State.

(B) claim immunity from the legal process of the
recognizing State.

(C) claim financial assistance and help from the
recognizing State.

(D) appointdiplomatic agents.

65. Fundamental change in the state of facts and
circumstances which existed at the time of
conclusion of the treaty may be invoked as
ground of terminating the treaty. This doctrine is

(A) Juscogens
(B) Rebus sic Stantibus
(C) Terranullis
(D) Pactasuntservanda

66. In which of the following cases intervention by
a State will not be lawful?

(A) To protect the rights and interests and personal
safety ofits citizen abroad.

(B) Selfdefence.

(C) Where a State subject of intervention, has
unlawfully intervened in the affairs of
intervening State.

(D) Intervention as threat or use of force against the
territorial integrity of a State.

62. & BT RGBT |
(A) DI ST B SR Ry S v B B |

(B) Ba Wog & & T Afeet Y SR fifdy
CRCEEEIRES
() DTt o R & R

(D) ST AU BT AT T |

63. frfoian fagral # ¥ fooda oaR &l T
ERBR Bl ARG el & S FMEY Sl BB
T T S E?

(A) TSI g
(B) TRR g
C) Remm o1 g

(‘D) T Rigr

64 HTRITT W YT P, AT BB el IRI—

/

(A) ¥R YRR R ARl Vo W IR H A el

\£

B) I Y& X 9Tl XTod 6 aferes ufepan &
IR Bl aTET BRA o

(C) AT Y& H_A qTe] oy ¥ A Ter /g
HERI TS B & |

(D) RTores srf¥rena fARge e o |

65. AfFY B AfTHT Y&H BRI THY Tl T
TRRURRT T <9 &1, S99 Aferd TRadH, af
B GAK PR o TP NGRS 59 5 START
TG | T8 Rig T B

66. Teferfad 1 & fors o0 g1 swae faferery
TEERT?
(A) faew 7 56 TG & PRI 79 Befi &
BAGEIRPICDIESERS IR
IRCIGRGIESE
(C) w8l e & fawy oy 1 Te R Al
RT3 & | H ST seem fHans |

(D) T XIoT < AR SRS o favng wd
ST U S WA STAaT S9! B 0 H 8 |
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67. A court established by belligerent State for
deciding the maritime capture in time of war is
called—

(A) Municipal Court

(B) International Court

(C) PrizeCourt

(D) Maritime Court

68. Point out the incorrect statement.

(A) General Assembly or the Security Council has
the power to seek advisory opinion of
International Court of Justice.

(B) Advisory opinion of International Court of
Justice can only be sought on legal questions
which may be purely academic.

(C) Advisory opinion of International Court of
Justice can only be sought on legal questions
which can be concrete or abstract.

(D) Advisory opinion of International Court of
Justice has strong persuasive value.

69. The Chairman of National Human Rights
Commission must be—

(A) Aretired Judge of High Court

(B) Anadvocate who is eligible to be appointed as a
judge of the Supreme Court.

(C) One who has served as Attorney General of
India for a minimum period of three years.

(D) Aretired judge ofthe Supreme Court.

70. Which one of the following is a human right as
well as a fundamental right under the
Constitution of India?

(A) Rightto information

(B) Righttowork

(C) Righttoeducation

(D) Righttohousing

71. In which of the following cases the Supreme
Court accepted the right to development as an
integral part of human right?

(A) N.D.Jayalv. Union of India

(B) Guruvayoor Devaswom Managing Committee
v.C.K.Rajan

(C) John Vallamattom v. Union of India

(D) Railway Board v. Chandrima Das

67. Ig & q9Y YG A U< TG A1 B IR B ot
g Il G S0 =TT Bl B—

(A) TRYTeTH AT
(B) RIS ~IRITeT
(C)
(D)

D?ﬂfrg@‘cﬁ?amm

TeTd B ST HIRTT |

(A) T 9T 7 GR&T TRYE SRS IRy
a%'ﬂa%ﬁzﬁr‘\?r SHIHR b AT R BT Ife
S |

(B) el U9 faftres yeAl, W1 g st &,
TR ARSI ~IRTAY BTGB N7
AT ST S |

(C) et T faferes et Wi et sreran WK &, 7
TR FRRICT IRTAY P GABBNI T Bl
AT B ST HHA B |

D) SRICY e $ GegdN! g 6l
JHTaEITe SIHRUY e § |

68.

69. TS THTIEBR AT o aregel B =1fey—

(A) ST ~IITAY B Uh A |

(B) WaTed ~arTerd & =l & o ¥ Frgfi ¥
SHENER Uep e |

(C) e 9IRd & HErIRERl & w9 & g 3
W B AT DI B |

(D) e =IRTery & Harge ~IRAf |

FfeRad # & P TP AFaIeR & qra—qref
IR & AAEH & 7 T Aifers arfdrer §12?

70.

rferRad 7 ¥ fobw are % e =marerg = ey
D ARPR B AFAIIGR BT A= 3 WHR
ey ?

(A) TSI, SITeT §9H WK 9

(B) TG SaIGH o781 FR S ¥ . Ao

7l

(C) ST T 9 WRd T
(D) Y14 1S g9 TfaAT
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72. While of the following is not a function of
National Human Rights Commission ?

(A) To undertake and promote research on human
rights.

(B) To spread human rights literacy.

(C) To study the living conditions of inmates of any
jail and make recommendations thereon to the
government.

(D) To adjudicate on the matters of human rights
and enforce human rights.

73. Which body has replaced the former UN Sub- *

commission on the Promotion and Protection of
Human Rights?
(A) Human Rights Committee
(B) UN Expert Group on Human Rights
(C) Human Rights Council Advisory Committee
(D) Working Group on Human Rights

74. Which one of the following is correct according
to Article 1 of the Universal Declaration of
Human Rights, 19487

(A) All human beings are born free and equal in
rights.

(B) All human beings are born free, equal and
dignity

(C) All human beings are equal in dignity and
rights.

(D) All human beings are born free and equal in
rights and dignity.

75. X, owner of a car, asked his friend Y to drive the
car to Jaipur where he would join him. As the car
was about five kilometres from Jaipur, it hit a
pedestrian Z, on account of Y's negligent
driving and injured him seriously. Z sued X for
damages. In this case:

(A) Xisnotliable.

(B) The liability is solely of Y, as X was not
accompanying him.

(C) Since Y was driving X's car was under his
authority, X is liable.

(D) X has the defence of inevitable accident.

72. Frefaas § QBN I AFATIGR AR 6l

TR TR B |

(A) FFAIART TR ONY & SUHH T Aalg

BT |

(B) FFATIRIE AR Bl TaedR &l |

(C) Tl BRIR & gfaal & fare oo aRRerfal
BT FIT BT TN I T PR DI I
BT |

(D) AHETYR G "Fel 1) fafead e
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R @ wadd gur W W
—“T%’ Su—-amrT @ e e gN
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(A) FHETIER FfHfd

(B) AFATHRI TR HgFT—Tg, [T 998

(C) FFaEPR HRae HaedR dffd

(D) HETEPR] &g SRBK T8
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e
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w

(A) T A177a TToN SR H W1 Ud FH1 o
TS|

(B) 94 79g YTOT T4, Wamwﬁwﬁw
AT

(C) sy HreTa oy TR T SHERT g w8 |

(D) F9 AT TIoT BRI T MRAT H A
TAT T TH AT E |

75. TH HR & WA T T o 75 I IR SR
T TA B & T & f7g Fel o1l 98 ‘Y B e
ST | ST PR STAYR | T U feAmiex ggel
oY, S T Uael O T8 AT ST P THFBY AR &l
TS T’ B GRT SU&T e e B DRI TR
IS B ;T T T B g &gl og O
EREESEIE R
(A) T FIERT TR E |
(B) B9 T’ &1 U WA M & b °' TGP

GIEEERIN
(C) TP ‘T, T’ B BR IS WAGR & L
TN < T, ST ‘T FI AR 8 |
(D) ;’%w’aﬁaﬁgﬁw’ﬁﬁww&
|
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76. Liability in torts depends on—
(A) Quantum of damages suffered
(B) Involvement of intention

(C) Infringement of legal right
(D) Effecton public interest

77. Incontributory negligence-

(A) Both parties have contributed to the negligence
equally.

(B) Only one party is negligent and other has not
taken due care.

(C) One party is negligent resulting in injury while
the other has taken due care.

(D) When lack of care is equal on both sides.

78. Which one of the following statements is true?

(A) Both public as well as private nuisance are
punishable under criminal law.

(B) Only private nuisance is punishable under
criminal law, while there is no punishment for
general nuisance.

(C) Public nuisance is punishable under criminal
law while private nuisance is a moral wrong
only.

(D) Public nuisance is punishable under criminal
law, while remedy for private nuisance is
available under civil law.

79. The Rule of 'Absolute Liability' was laid down
in the case-

(A) M.C.Mehtavs. Union of India

(B) Madras Railways Co. vs. Zamidar

(C) K.Nagireddivs. State of A.P.

(D) Rylandsvs. Fletcher

80. Two persons are said to be joint tort-feasors
when-

(A) a person on account of his negligence gives
opportunity to another for committing a tort

(B) two or more persons are simultaneously
involved in committing a wrong.

(C) atort is committed by two or more persons or
any one of them when they are engaged in
furtherance of a concerted purpose.

(D) two persons together commit a tort

76. TG A AT (¥R HRars—
(A) T FR B AT TR
(B) R & S<Ide™ X
(C) foftr aftrpR & arfderem oy
(D) SAIHied W IS 9T W

77. IS SULTH —
(A) T IETHR SUE § T BY I AMEH BRI & |

(B) B9 Ueh TR SUTA & T T A T IF
AT Tl g |

(C) T 9&THR &M & e gRumasy afd
TEH SIech R+ WIS s g |

(D) W& IF1 98l & Fadar § FH TEE |

| 78. Fefofea iAo soTaa s ?

(A) T T JafeRTes ST, ST SRTIYe fafYy
T A TSI |

(B) @aeT ufdId SUATY SMURI fafyy & srd=
U & Wa1eh &1 SUTY 3G PIE VS eI & |

(C) e SuaTy SR fafYy & a1 svedr &
TP SAfRTH SYATT T Ueh “fcieh THR S |

(D) ¥l SYATY ATYRTees fafty & aref qued &
STefep RafeRTe JYAIY &Y STAR D9 Yy &
ST YT § |

79. Tr=feries % < forwr are % “gof T @1 Rigrar
wicraTfa fopar R o ?
(A) T 9. 70 §FH WRT 9Y
(B) HERI T HF I SHIER
(C) o ARSI T ST Y3 ¥ o
(D) TS §HH e

80. &I egfeR] HYaRT UG cll BRI & T~

(A) T =fcRT SU-l SUT & PRU TR B TH
BT HIRT B Bl AT AT |

(B) 3 1 I AT UH AYBR BIRT B H
HII—RTTY TR B & |

(C) QAT N 31fre afers gRT AT S W R v
&R UG FIRG fBa1 T § O 98 T
YR YA & SR N e & |

(D) 1 oI U |12 1Y HING PR 8 |
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81. Which of the following statements is not
correct?

(A) Aconfession may be made to the court.

(B) A confession may be made to anybody outside
the court.

(C) A confession may consist of conversation to
oneself, overheard by another.

(D) Itis necessary for the relevancy of a confession
that it should be communicated to some other
person

82. 'A'is tried for the murder of 'B' by intentionally
shooting him dead.

(A) The factthat'A' on the other occasions shot at'B'
is relevant, as showing his intention to shoot 'B'.

(B) The fact that 'A' was in the habit of shooting at |

people with intent to murder them is relevant.
(C) The fact the 'A' shot at 'C' at an earlier cccasion
isrelevant.
(D) None ofthe above is correct.

83. Which ofthe following statements is correct?

(A) Leading questions may be asked in
examination-in-chief.

(B) Leading questions may be asked in cross-
examination.

(C) Leading questions may be asked in re-
examination.

(D) Noneofthe above s correct.

84. Which of the following statements is not
correct?

(A) Adying declaration may be made by signs when
injured person is unable to speak.

(B) For a dying declaration, the declarant should be
under expectation of death while making the
statement.

(C) For a dying declaration, there has to be
proximate relationship between statement and
the circumstances of death.

(D) Dying declaration can be proved when it is
made by a person as to the cause of his death.

g1, FEfREG I PT- HIT T TE ?

(A) TG =TI B FHE b T D & |

(B) SIGI T @ ITeR 51 & A wHa B
STEN B |

(C) Gl o= 31y ¥ 9, I BT oFw A
T I I Y, A N RT A FEi g |

(D) el =PI BT GErTa o 3 TS & fob
T ol S TRy ot g o TR S |

82. ARG el FeTER g HING BY 'F' bl &1 & o1

(A) T8 T2 foF /o7 91 oY SRl X ‘¥’ U= el
TS, ' B Ml O B IRA B FER

(B) Ug 2 o5 ' o7 Sl R S &1 B I

(C) Tean o' 71'9 W TH 4 ofaeR TR et
Teld o, gErTa |

(D) SRR H A D NHA A ¢ |

83. FHfREa AR P T HI Ta S ?
(A) T Yo 4= TeT 3 o T e ¢ |

(B) TS R FiI—T1&T H IO o 6l © |
(C) Gu Te g W H O S qaha ¢ |
(D) STYFI H 4 IS NWHE & & |

84. FfeREaH H o T HIT TR Ta 8 |

(A) 98 TR e do A Ry B O Uh
qHICTS ESU Sava gIRT I of Tl |
(B) FgHIfeTeh ETYUT o foT, BTYOT el B bRl

T G D TARTSI H B |

(C) egepicTer HINUT & Ty Her o Heg ol
TR & Hey ST T B =1y |

(D) V19 U& HfeR] & gRI IHD G B BRI &
HE=E A b1 T B A GG piierd \on &l g
foran S Haa & |
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85. 'A', intentionally and falsely leads 'B' to believe
that certain lands belongs to 'A' and thereby
induces 'B' to buy and pay for it. The land
afterwards becomes property of 'A'". 'A'" seeks to
set aside the sale.

The sale may be set aside because 'A' had no title
atthe time of sale.

The sale may be set aside on the ground of
caveatemptorrule.

'A'is not allowed to prove his want of title.

None of the above is correct.

A document is presumed to be genuine —
) Ifitistwenty years old.

) Ifitisthirty years old.

) Ifitis forty years old.

Ifitis fifty years old.

(ee]
~J

. Which of the following is not correct regarding
'‘common intention' under section 34 of the
Indian Penal Code?

) Common intention implies a pre-arranged plan,
prior meeting of minds, prior consultation in
between all persons constituting the group.

) Common intention means the mens rea

necessary to constitute the offence that has been

committed.

Common intention means evil intent to commit

the same offence which is committed.

(D) Common intention means a desire to commit a

criminal act without any contemplation of the

C

N

{(C)
)

(

consequence.

88. Which of the following ways will not constitute
abetment?

(A) By instigating a person to commit an offence.

(B) By engaging in conspiracy to commit an
offence.

(C) By intentionally aiding a person to commit an
offence.

(D) By affording facility for the commission of
offence, even if such facility is not essential for
the commission ofthat crime.

85. ‘&' WEW qeN femr ‘¥ B fvar o & 5
BRI G &7 P T T T YOR T B S Y
FR TH D foTq I et & IR e & |
qE 9 g1 ¥ o' B TR &9 W g1 39
(A) BT e fosar S werdl & RIS ey &
GHY ' 37 U DTS ¥ T8 o |
(B) sl FIEH & 9 & MR W) gy smure
s aFare |

(C) "8 B 9 W@ B IJWT BT g B D
a8t el |

(D) ST H A PE NI TE T |

86. Veh SN I ST SUERE feba SR afe—
(A) B IR |
(B) TG AT |
(C) T& =Teli a9 QR 2 |
(D) 8 T aY AT 2 |

\)

7. ARG IS G B gRT 34 %g%ﬁ:r T
IR BT B REfoReg d 9 el T8 37

(A) MY AR W ST R ATl el &
weaqd RN arer, wRasst &1 7d fie
RN CRNENIGCIE RG]

(B) "I A" &1 31 ¢, T "GRIRR  Ied
o631 T STURTe 1 71T v B STAR B & |

(C) Mg 3RR’ B 81ef &, S Bk fobarm 1am &
ST STURTE I IR TR BT GRT S |

(D) AT 3R’ BT &re &, fopsl oRum & W=
53 91 TRt o BIRT & &1 T
Eeall

88. THwifeTReaa 2wl 3 | I goRuT i 7E e ?

(A) T feT T URTHIRG PR B foru Sher v |

(B) T SUR1Y B NG B B a1 § e
Head

(C) TP 3MURTE I IR F= 1) MR Tl <aferay
& TR PR D GINT |

(D) STORTHHIRG HR & foTg G Wa Bx gRI
e I8 G $H STURIE Pl BN BYA o forv
MM HET N |
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89. Minimum number of persons required to|89.
commit an affray is—

(A) Two

(B) Three

(C) Five

(D) Ten

90. Any hurt is grievous if it causes sufferer to be in|9o.
severe bodily pain or unable to follow his
ordinary pursuits during space of —

(A) Twentydays

(B) Twenty five days

(C) Thirty days

(D) Tendays

91. 'A"' commits house trespass by entering B's|of.
house through a window, itis -

(A) Lurkinghouse trespass by night

(B) House-breaking

(C) Mischief

(D) Criminal trespass

92. 'A' makes an attempt to pick pocket of 'B' by|92.
thrusting his hand into B's pocket. 'A’ fails in
attempt in consequence of B's having nothing in
his pocket. “a” is guilty of -

(A) Theft

(B) Criminal intimidation

(C) Attemptoftheft

(D) Nooffence

93. 'A' thief enters B's house and opens his safe. 'B'| 93.
raises an alarm and the thief bears a retreat.
While the thief is still in the house, 'B' fires at
him and kills him.

(A) 'B'is guilty of murder.

(B) 'B'is guilty of culpable homicide not amounting
to murder.

(C) 'B' is not guilty of any offence, the act being
within his right of self defence.

(D) None of the above is correct.
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94. 'A' makes a false entry in his electronic record
for the purpose of using it as corroborative
evidence in trial court.'A'is guilty of—

(A) Fabricating false evidence

(B) Committing cheating

(C) Committing forgery

(D) Committing criminal breach of trust

95. In The Environment (Protection) Act, 1986 ,
unless the context otherwise requires
“environment” includes -

water, air and land and the inter- relationship
which exists among and between water, air and
land, and human beings, other living creatures,
plants, micro-organism and property

water, air and land and the inter- relationship
which exists among and between water, air and
land, and human beings, other living creatures,
plants, micro-organism

water, air and land and the inter- relationship
which exists among and between water, air and
land, and human beings, other living creatures
water, air and land and the inter- relationship
which exists among and between water, air and
land, and human beings, other living creatures,
plants

(A)

(B)

©

D)

The Water (Prevention and Control of
Pollution)Act, 1974 -
) Regulates the discharge of hazardous pollutants
into the nation's surface water
Regulates the emission of hazardous air
pollutants
Regulates waste disposal of sea
Regulates the transportation of hazardous
materials

97. Montreal protocol aims at-
A) reduction of ozone depleting substances
(B) biodiversity conservation
(C) control of water pollution
(D) control of CO, emission

94. % AR RTAY ¥ HIve 91eg & w9 A YIn
T S JA A T ST difverg
5 e yfife Ry I o S -
(A) e e TG B
(B) B BRI PR Bl
(C) FE TN HING A H
(D) AR S =TT %7 Bl

5. dh S HEH § U AGYIH 7 B, TR
(FvaToT) ST, 1986 # yafavor & |ftaferd &

(A) VTe1, a1g vd 4 q1 U RER-RIg T o
A, 9 U ¥ 1 A\ WO 3 Sfaa
o, el ve e St qem et @ weg
qr Y- AIRAI A A |

(B) 51, a1g 9 9 <1 T IREARG— gl
S ST, 91 v A SR AE, wiw, e
Hfad ifor, el ve e SRl @ wed g
I ARTT T B |

(C) ST, a1g Tq T V¥ IREIRS TRl ol
S, 91g U9 Y T wMa WE SR oy
Sifad FTORIT & Heg Ta aner—ane ik A e |

(D) 51, arg T+ T O IR gt
S ST, g Td qfF T Aa givwl, s
ST wiftry, def @ 4w 9 wg-wy
IRTT T |

96. TeT (ST FHaRUT et =) iR, 1974

(A) VTS % -G e ¥ TRAHTHI YD S T
F AT e |

(B )q@%;ﬂa Y ISP & SO BT fafgae
PRATS |

(C) wrfsa smane & fier & s exart |

(D) TREFHeHY varelt & URaed @1 e sear
gl

97. AT YIeIehre! Bl o6 B—

(A) SIS &R R TN ARl & ) B |
(B) W& fafaeran o1 wwem

(C) TeT ygyu &1 R0y

(D) BT T[S SIS SIS Bl 0]

LL.M/21




98. Environmental Impact Assessment (EIA) is
mandatory under which one of the following
Indian legislations ?

(A) IndianForestAct

(B) Air(Prevention and Control of Pollution) Act

(C) Wildlife Protection Act

(D) Environment (Protection)Act

99. The Biological Diversity Act, 2002-

(A) was born out of India's attempt to realise the
objectives enshrined in the United Nations
Convention on Biological Diversity (CBD)
1992 which recognizes the sovereign rights of
States to use their own Biological Resources.
incorporates provisions relating to
environmental protection and conservation of
forests and other natural resources including
enforcement of any legal right relating to
environment,

has been enacted to provide for the prevention,
control and abatement of air pollution in India.
to provide for the prevention and control of
water pollution, and for the maintaining or
restoring of wholesomeness of water in the
country.

(B)

©

(D)

100. Environment Impact Assessment contributes to
(A) Sustainable Development

(B) Rapiddevelopment

(C) Industrial development

(D) None ofthe above
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